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1.39 x 80% =

4.82 x 30% =

6.91 x 80% =

0.96 x 50% =

5.27 x 60% =

1.75 x90% =

5.82 x20% =

0.29 x70% =

6.47 x 20% =

6.32 x 90% =

5.69 x 90% =

3.05 x 80% =

8.31 X 90% =

3.45 x 60% =

4.35 x40% =

4.47 x 60% =

2.02 x 50% =

9.59 x 90% =

6.03 x 70% =

1.62 x 60% =
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1.39 x 80% = 1.112

4.82 x30% = 1.446

6.91 x 80% = 5.528

0.96 x 50% = 0.48

5.27 x 60% = 3.162

1.75 x90% = 1.575

5.82 x20% = 1.164

0.29 x70% = 0.203

6.47 x 20% = 1.294

6.32 X 90% = 5.688

5.69 X 90% = 5.121

3.05 x 80% = 2.44

8.31 x90% = 7.479

3.45 x 60% = 2.07

4.35x40% = 1.74

4.47 x 60% = 2.682

2.02 x50% = 1.01

9.59 x90% = 8.631

6.03 x 70% = 4.221

1.62 x 60% = 0.972
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